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import java.applet.Applet;
import java.awt.Font;
import java.awt.Graphics;

import java.util.Date;

public class TimeCalc extends Applet {
public void paint (Graphics g)
{
// 0000000000000
Date initTime=new Date();
double result = 0.0;
for (double x=0.000001; x<1.0; x+=0.000001)

{
// 000000000000 0O00DOO0DO0DbOODOO0
// result = Math.exp(x);
// result = Math.log(x);
// result = Math.cos(x);
// result = x+1.0;

result = Math.pow(2.0, x);
}

// 00000000000 0DOO0
Date finalTime=new Date();
// 0000000000000000
long deltaTime=finalTime.getTime() - initTime.getTime();
Font f = new Font("Serif", Font.BOLD, 36);
g.setFont (f);
g.drawString("time: "+deltaTime, 10, 40);
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